DIVISION
g
8 wjm 8 == 16w 8 == O w0 ==
18 == 9 == 2] wjm 7 = 27 wjm 9 ==
28 wjm 7 == 14 wfm 7 == 32 wm 8 ==
36mfm O == 20 wfm 10 == 35 wim 7 ==
10 wfm 10 == 24 wjm 8 == 40 wjm 8 ==
48 wjm § == 30 mf= 10 == 45 wjm O ==
40 wjm 10 == A2 wjm 7 == 64 wj= 8 ==
40 wjm 7 == SCmjm 8 == 63 wfm O ==
56 mfm 7 == [2wfm 9 == 70 wfm= 10 ==
80 mfm 10 == 72 wfm 8 == 84 wjm 7 ==
63 mfm 7 == Oupm 9 = 100 wjm= 10 ==
72wfm 9 == NOwfm 9 = 77 wim 7 ==
81 wjm O == [2wfm 9 == 110 wfm 10 =
OO wfm 8 == 90 wf= 10 == 00 wf= 8 ==
80w 8 == 88 wjm 8 == 120 wfm 10 =
Choose two numbers from the box to complete the division sentence
150 120 10 25 100 9 90 5
120 wim | 10 | (w0 - Z —
96 88 9 81 84 12 49 7
o] g o = (o 7] =
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